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COMBINED ENGINEERING SERVICES IN EXAMINATION - 6/01/2024

1. Match and choose the correct answer from code given below:

A. East India Association 1. 1885

B. Madras Native Association 2.1884

C. Madras Mahajana Sabha 3.1852

D. Indian National Congress 4.1866
A B C D

a. 1 3 2 4

b. 1 2 3 4

C. 3 4 1 2

d. 4 3 2 1

e. Answer not known
Leteu(peuaieuBens Qumbs g sllwmer alenLmuld CsiTey OFUIs.

A. FpsdpHu oBFTHGWIF6 1. 1885
B. Goaenaneurdlseil FmisLD 2. 1884
C. Qoaienen IDHTNT FRIHLD 3. 1852
D. @b Bxfw smmayerd 4. 1866
A B C D
a. 1 3 2 4
b. 1 2 3 4
C. 3 4 1 2
d. 4 3 2 1
e. alemL Gaflwaledenso
2. Subash Chandra Bose converted the into Socialist Party.
a. Samyavadi Sangha b. Arya Samaj c. Brahma Samaj
d. Prarthana Samaj e. Answer not known
gutay gFhayGumerd LN SH CUTZHIe|mL M0 SLFwiTes  LomBplerTi.
a. gmbeurd) &mhikLD b. eyflw Fworeid C. Lybp FLomegid
d. WpnTsHemen Flomegld e. allewL.  Gzfluialsdenso

3. The congress passed the ‘Quit India” Resolution on 8t August, 1942 for the following

reasons.
(i) Failure of the cripps mission
(i)  Japanese forces moved towards India

(iii)  Jinnah’s demand
(iv)  To compel the British to accept the demand of Indian for Independence

(v)  To support the Soviet Union
a. (i), (ii) and (iv) are correct b. (i), (i), (iii) and (v) are correct
c. (i), (ii), (iv) and (v) are correct d. All the above are correct
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e. Answer not known

LNeTeU(BLD SMTTETRIBEHEHDBTE 1942900 eWIH B0 8 S HT6T HTHSTH ‘GeusTenemuiGer
CeueMBGuim’ SToTeIdHamsd SUIBNSILISI.

(i) Sifilied argis@welsr Camevaiulemed

(i) Opdwmemen GpTohed sgriTaiLl LeLS6T LBLILLL SH6TTe0

1 leieonmaier GamidbendHTs

gRFGuwiser  @hHuiseiar  alBsme  Camibmsmw  gBmie  Qsmeien
SLLTWOILGSHSHINHBHTS

) Gamalwg weiwener SLHALILSBHTS

a. (i), (ii) wBpIb (iv) & b. (i), (ii), (iii)) wBEID (V) &

c. (i), (ii), (iv) wppd (v) b & d. GuBem Pl SimansHID &

e. alenL Gafweailsdenso

4.  The total number of triangles in the given figure is

//\

a.27 b. 25 c.26 d. 28 e. Answer not known
Cam@islLl L ULGFHe0 2 sen (psHCaTanimiseier OLoTSHS 6Tewenlldemnd SGSLD.
a. 27 b. 25 c. 26 d. 28 e. alowL Oz fwealsbensv
5. Calculate the days between 12 January 2004 and 7 March 2004.
a. 52 days b. 53 days c. 54 days
d. 51 days e. Answer not known
merteufl 12 b Cagl 2004 wBmib wiTF 7 b Cagl 2004 RauBBiBG BemLuled 2 66N BT Henend
BB (Hb.
a. 52 Bl ae b. 53 mrsei C. 54 [BTL&6iT
d. 51 ®m el e. alenL  GaMuwealsvemev

6. Find the first term of a G.P. in which S¢ = 4095 and r =4

a.2 b.3 c.4 d.5 e. Answer not known
R UmBSHS CHTLT euflemauied Se= 4095 Bpid =4 eafled (PFHeO o MIlenLIs STEUIS.
a.2 b.3 c.4 d.5 e. alew OgMuwalsbensv

7. Find the missing term from the following;:
16 D7,18G 10,21 K 14,25P 19,

a.30 V25 b.30V 24 c.30 V25
d.29V 25 e. Answer not known
Weteu(meuaieuBled al(BUL L euiBenBa  &HiT6ulb:

a.30 V25 b.30V 24 c.30V 25
d.29V 25 e. aleowL  Oafwalsbensv

8. In a certain code language ‘BEAT’ is written as YVZG, then what will be the code of

MILD?
a. ONRW b. NOWR c. ONWR
d. NROW e. Answer not known
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o eutTHmGmw GUUILG GumPulsd YVZG aear sigdemed MILD 616 sumighengenul
GBUILH GmPufed sreleuTm 61(LP&H60MLD?

a. ONRW b. NOWR c. ONWR

d. NROW e. alenL  GaMuwialsvemnev

If the circumference of a conical wooden piece is 484 cm then find its volume when its

height is 105 cm.
a. 6,51, 190 cm? b. 6,52,290 cm? €. 6,52,190 cm3
d. 5, 52,190 cm? e. Answer not known

484 QFI6 a@peneelien e WIS gniblller o wghd 105 OF5 eefled gmblieT HerT DleTeneld
SHITCI15.
a. 6,51,190 Q. b. 6,52,290 Q&.15° C. 6,52,190 G&.15

d. 5,52,190 Q&.5° e. alewL GafNuwalsbensy

Ratio of the volume of the 2 cones is 2 : 9. Find the ratio of their radii if the height of the
tirst cone is half the height of the second cone.

a.2:9 b.2:3 c.\2:3 d.4:9 e. Answer not known

O SmlbLBeT6eT He DleNeyseT 2 : 9 eleB alBHlHHHe0 QHBHBEI. (PHEL GnlbLleT 2 WIFLOTEISI
BTeWILToUS I SnlDllel 2 WFHFHe0 UTH QHIESGD LTINS, DIHT DJRIS6T IHSHID 6T6wT6n?

a.2:9 b.2:3 c.\2:3 d.4:9 e. allenl GzMwalsvene

If Arun lent Rs. 5,000 to Balaji for 2 years and Rs. 3,000 to Charles for 4 years on simple
interest, at the same rate of interest and received Rs. 2,200 in all from both of them as
interest then rate of interest was

a.5% b.7.5% c. 10% d.12.5% e. Answer not known

S|(HEWT 61T LITeUTeRS@ ¢h. 5,000 23 2 SLemiBoH@GID FTiTeverd eTeilal(hdB@ h. 3,000 &3 4
ATBHEHHSGL @Cr Hel allly aiHHHed UPRIBWISHTEO CLOTHHOTS 0. 2,200 &3 Ul QUi
CuBBTEL, 6ully &IFHLD

a.5% b.7.5% c.10% d. 12.5% e. allewL  Ozfwalsvensv

If Manohar pays an interest of Rs. 750 for 2 years on the sum of Rs. 4,500. Find the rate of
interest.

2 1 2 1
a. 7g% b. 85% C. 85% d. 75% e. Answer not known

CIaT eTdLeNT DIFed h. 4,500 &G @Tewih DLW Ul luitsd ah. 750 CFaishdlarmed el lg
aiplD eletameuTsd E(HBEGLD?

a. 7%% b. 8%% C. 8%% d. 7%% e. alenL  GaMuwalsvemev

60 workers can spin a bale of cotton in 7 days. In how many days will 42 workers spin it?
a.10 b. 12 c. 20 d.8 e. Answer not known

60 GouemeLWIT &6 @H LHHSH HITeL 2 (Hhewiewledwl HIBe 7 BTl &eT CHemeuliLubGSma 42
Gouemeowim Hei1 9185 Gouemeven! OFUIHI (PIYHH UG BT H6I

a. 10 b.12 c.20 d.8 e. alenL  GaMuwalsvemev

What is the smallest 5 digit number that is exactly divisible by 156 and 124?
a. 10208 b. 14308 c. 14108 d. 14508 e. Answer not known
156 wBmId 124 Pl elemwidenmed FAWMe uGULSIIQU WSFFBW 5 Bevdhd 616w 6160160 ?
a. 10208 b. 14308 c. 14108 d. 14508 e. alenL  GaMuwalsvemev

3| Page APPOLOSTUDY CENTRE PH: 044-24339436, 42867555, 9840226187  http://www.appolosupport.com/




15.

16.

17.

18.

19.

APPES LD

Y RFHNTRT
SHENNAL

Find the smallest number that can be divided by 254 and 508 which leaves the remainder
4

a. 512 b. 762 c. 1024 d. 1524 e. Answer not known
254 1oB@Ib 508 LEUl 6TewIHeNTe0 UGG Gurgl BHWTE 4 05 HHD WSFFSlu eTerTenemntd
SHITCI1 5.

a. b12 b. 762 c. 1024 d. 1524 e. alenL  GaMuwialsvemev

Kuralmathi bought a raincoat and saved Rs. 25 with discount of 20%, what was the
original price of the raincoat?

a. Rs. 120 b. Rs. 125 c. Rs. 80

d.Rs.75 e. Answer not known

&@mengd 20% seimenLiguer ¢ Oyuilet Gaml el eummhid p. 2583 BFOHHTeL erafled Giyules
BaM19aT 9IF60 @ilemev

a. Rs. 120 b. Rs. 125 c. Rs. 80

d. Rs. 75 e. alewL OgMwalsbensv

state in India provides breakfast in Government schools along with the mid-day
meals.

a. Kerala b. Karnataka c. Tamil Nadu
d. Telangana e. Answer not known
LmHlevld TS Ueitell LOTETEUTHEHESG STEM6V 2 _IaD, WHUI 2 D 6UPRIGIBSI.
a. Gayenm b. siprLsT C. SODHTH
d. Gmeumismen e. alew Gafuwalsdensy

The number of seats in the Tamil Nadu Legislative Assembly for SCs and STs is
a.44 and 2 b. 46 and 4 c.48 and 10

d. 40 and 12 e. Answer not known

SODHTH FLLWOMBSHSH0 L lguled FrglullenT OB@ID UPHIGQUIET LSEHEhd:STeT @)L Miger 6
6T6uT 00T 6

a. 44 wppib 2 b. 46 w@pib 4 c. 48 wmpib 10

d. 40 wBmib 12 e. alenL  Gapfuweailsvensy

is an example of export promotion policy in Tamil Nadu as per the export
preparation index 2020.
a. Lack of sector-wise definite policy
b. Export news letters are occasionally published
c. Sector specific export plans for industries
d. Financial aid to all exporters
e. Answer not known
gmming swmfliy @uih 2020 ety SHOWDHTL 1960 gBmIng Gbum’ (Gd CBTaTmHHE
G abHSISSTLH
a. glpeumiwurer SLal Lorer CsmeTms &HmBUT®h
b. gBmiwdsF QFuiFwLemev eiBLTHTougH OeueilulBge0
C. OzmMiBFTenevBEHISTeT SHlenvm aumfl gBBILSHS S L M6l
d. omansa gBBILSLTETTEERSGD B& WL Halwiernsase0
e. allewL g flwalsvenso
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Match the following:

Products Geographical indications Tagged Place

A. Turmeric 1. Thanjavur

B. Veena 2. Erode

C. Hill Garlic 3. Karaikudi

D. Kandangi saree 4. Kodaikanal
A B C D

a. 1 2 3 4

b. 4 3 2 1

c. 2 1 4 3

d. 2 4 3 1

e. Answer not known

QUT(HSHHIB:

QumpL_&eiT yalgmt GBuiLG @)L misei

A. wehger 1. SHehaFTeyT

B. aiewewr 2. mGym(d

C. wenevli,emi(® 3. BTOIHGIQ

D. sawiLmhdsF BGgenev 4. GBTEML HBHTET60
A B C D

a. 1 2 3 4

b. 4 3 2 1

C. 2 1 4 3

d. 2 4 3 1

e. alowL G flwalsvensn

Choose the correct statement:

IPOP scheme is to improve the quality of the older persons by providing
(i) Shelter and medical care

(i)  Tailoring Training

(iii) Loan facilities

)
iv)

iv)  Literacy promotion
a. (i) and (ii) only b. (ii) and (iv) only c. (i) only
d. (iii) only e. Answer not known

gflwmenr opldmamwd CHiTe] CFUIs :

IPOP S Liomengy) QUISHTETEUTEHETHEB G LT&STeu(hHeUGToBENMBE CaTHHH BHIHDS
GuobuBSHHINSHTGLD:

(i) SRIGOLID WOBBID W(HSSHe LTl

(i) ewspwed LUIBS

i) oLe augd

(iv)  epsspiey Guwbutd

a. (i) wspib (ii) wi GGw b. (ii) w@mib (iv) wr GG c. (i) wL @b

d. (iii) L @w e. aflewL  Gsflwalsvensv

Tamil Nadu's First Women’s Council meeting was held on

a. 10 January, 2014 b. 12 January, 2014 c. 10 February, 2014
d. 12 February, 2014 e. Answer not known

SODHTLIQET (1pFHev W&6MT FenUdbanl LD Henl GUBBS.

a.10 seeufl, 2014 b. 12 sereufl, 2014 c. 10 dugeurd, 2014
d. 12 Wageuf, 2014 e. alewL Gz fuwailsdensy
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23.  Assertion [A]: Namakkal Kavignar Ramalingam was the author of Sangoli
Reason [R]: He edited Bharathi’s poems
a. Both [A] and [R] are true
b. [A] is false, [R] is true
c. [A] is correct but [R] is false
d. Both [A] and [R] are false
e. Answer not known
ammul [Al: gmiOsTeduller AN BILSH0 SHalehT BFTDedkISD
amyenid [R]: @eut unyHwinflesr UTLc0Bemensd OHTE&HSHHIIT.
a. [A] wpoid [R] @gewiGn gmp
b. [A] seugl, [R] &
c. [A]af syemed [R] seums
d. [A] wpgid [R] ByemiGo seupreais!
e. alowL  GgMwalsvenso

24.  The first Tamil news paper to publish political cartoons is

a. Young India b. The India c. The Navasakthi
d. Swadeshamitran e. Answer not known

ordlwed CxalsF FgHglTmsmen GeualuillL (pHed SHUWID CEFUISHSHSHT6N
a. wm @bawm b. @bHuwir C. hoUFHS)

d. s8sa0 &6 e. alenL  Gafweaisvensv

25.  “Deva paadyin ikkadhai Seithavar Moovar” - Sayings of Kambar reveals
(1) Ramayana was written by three poets namely - Vaanmeegi, Vashisttar, Bodhayanaar
(2) Vashishtar wrote Vashitta Ramayana
(3) Bodhayanaar wrote Bodhayana Ramayana
(4) Vyasar too wrote a Ramayana which is title as Adhyatma Ramayana
a. (4) is incorrect; others correct b. (1), (2), (3), (4) all are correct
c. (3) is incorrect; others correct d. (2), (3), (4) are incorrect; (1) alone is correct
e. Answer not known
“Cpou LTeLUIGT DHHMGH OFIHaUT cpeu eaiip HUfeT gnBsleLig
(1) @gmomwenid G&u1%  cpeul-eumender, eudl LT, GuITSHTWIET
(2) gl LT QEFuisad eudl L FmoTuleId
(3) GumrgmweT OQFUISEH GUITSHTUIET FTLOTUICILD
(4) elwmsFmb @ JTOTWENID CFUISHIETENTT. SIH DISHWTHID JTLOTUWIENID 6T6IMl  FnMIEUT(HLD

o6,
a. e (4) seuml, genenier il b. (1), (2), 3), (4) &P SiwenSHID &l
c. (3) msouml, gemenwien &l d. (2), (3), (4) meum, (1) wL Bw &

e. alenL Gaflweailedenso

26.  Dr. Annie Besant joined ‘Theosophical Society’. What does “Theosophy” means in this

context?
a. Divine Right b. Political freedom c. Divine wisdom
d. Wisdom and knowledge e. Answer not known

Dr. sisiieflCuaen oenown SieuTseT ‘FHOwmCamissd’ Gamenglipuied, SenemibSTT. ©ig60
‘FHOwWTBaml’ — ulesr QuUTHET ellendsd WITg?

a. Ozuwieis o flew b. opflwed &sbHATD C. Gauiei® @hTeD

d. eprend wBEId Spfey e. allenL  Gafweaisvenso
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To which section the following Kural belongs to

“Nunniya Noolpala Karpinum Matrunthan

Unmai Arivae migum”.

a. Oozh b. Kalvi c. Perumai

d. Nirai alithal e. Answer not known

HINTENAW  BITEOLIY SHBLIGHID  LOBBIHS60

o awienld ONSIG6 G - 618 GHMET 61HSH DHBTTHHE0 DlMLOHBHI6T6NHI?
a. eenp b. seval C. Qu(pemLD

d. penpuwifsed e. alewL  Oafwalsbensv

Who was the first woman speaker of the independent Cabinet when the Justice party
ruled for the third time under Chief Minister Subbarayan?

a. Dr. Muthu Lakshmi Reddy b. Rukmani Lakshmipathy

c. Sarojini Naidu d. Annie Besant

e. Answer not known

(PHEVEMIDFST SLILITTWLST HenevenLoulled cLoGIBTaISHI (LPOBULITES BHEHBL & ' & DemwsHHCLTS
GSHHIT DIMOFFTMUUID (PHe0 GlLIewT FUTBTWIST WImT?

a. LASLIT. (pH el &l Ly b. ®mawenll evadL

c. Qe BTG d. LrsLT. oiel Quae

e. allewL  Gafwalsvenso

Assertion [A]: Humayun was a cruel Bhamini Sultan
Reason [R]: There was a fratricidal war before his accession
a. [A]is correct [R] is wrong

b. Both [A] and [R] are correct

c. Both [A] and [R] are wrong

d. [A]is correct [R] is the correct explanation of [A]

e. Answer not known

amm [A]: anfiomuyest 10sd Osm@roTer UTON SHe0HT6
smyewid [R]:  usalBuBLsd (el F8HTHIF FaNienL GHLL L .
a. [A] &M [R] Heum

b. [A] [R] @yewiBd &

c. [A][R] e soumi

d. [A] &M [R] [A] @& afwrer ealendasid

e. allewL  Ggflwaisvenso

Name the noted Mathematician, Astronomer of the Gupta period.
a. Vatsyayana b. Aryabhata c. Varahamitra

d. Kalidasa e. Answer not known

GUST BTe0HFH60 B(HbHFH SHemiHaluled LoBEID euTenueoTenymed Fmba allenmidweufler Guwenydh
GBULBS.

a. eurgerowimuileonmit b. eyfwc i C. auITaBLO&yT

d. augreLilgym e. alenL  GaMuwailsvemev

Which of the following is not correctly matched?

a. Auxin - Apical dominance

b. Giberellin - increases Amlyase activity
c. Cytokinin - Promotes Senescence

d. Ethylene - Fruit ripening

e. Answer not known
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entau(meussteuBplied 61gl Ffluwims GQUTHbHSHaNe0en60?

a. oLHen - mlell QLEHHHID

b. 290LGTede - imGeverd GFwieOLTH SFHBNHs CFUIHM
C. mFL CLremdpellelt - (WPHTEFSeww 2adHEGalbHBS

d. e18)eSei - LIDBIBED6N LI(IDHS el E@LID

e. alenL. Gafweailsdenso

32.  One of the following is incorrect expansion?

a. ISRO - Indian Space Research Organisation

b. SCERT - State Council of Educational Research and Teaching

c. CSIR - Council of Scientific and Industrial Research

d. UNESCO - United Nations Educational, Scientific and Cultural Organisation

e. Answer not known
LeTeu(heuaTeuBmIeT &Ml Heummer alfleuTdsd SLEGLD.

a. ISRO - @hFw alamiGeued oymuIFs Bmieued
b. SCERT - wmhev @eval sugmuiFdl woBmid sBLsse0 B ieued
c. CSIR - 9felwed WwBEID COBHTHD Hiews ITUIFS HeeTded

d. UNESCO - madw prhseiear seoal, ipflaluicd 0OBEDID SeOTFSMy Sieniolil|
e. allewL G flweaisvenso

33. The Treflan is manufactured from

a. p - Nitro toluene b. p - Chloro benzotrifluoride

c. 3 - Nitro toluene d. 2 - Chloro toluene

e. Answer not known

L_QyLilermest B0 BmHEH SHWThESLILGSBSH.

a.p - epLGym GLmeieie b. p - ®&QemGyr Guen@amgeny. .L{8enTeny(H
c.3 - ampl Gym GLmeveies d. 2 - &GemGyr QLmevieaiesr

e. allewL  Ggflweailsvenso

34. How do the biscuits, remain Crisp, when kept in a fridge?

a. Low Humidity b. Low Temperature c. High Preservation

d. None of these e. Answer not known

G@ofiT  grgperl OQuluied emeauds@lh Gurgdl et Llewsl GCmHBOWTHIL  H6TeND  LOTBTLD6D
Bn5SBsI?

a. GmPBbHSH FILILISLD b. @eomiHs GauiuBeneo C. 9IHB LTHIBTHFH60

d. Baubpled gaidlevenev e. alenL  Gafuweaisvensy

35. To Develop exports at district level, district export promotion committees have been
formed in all States in India except in
a. Assam b. Nagaland c. Telangana

d. West Bengal e. Answer not known

@hFHwraled el L Siemaled gBupIdHemul 2aE@Galdd, Tl L enalsd gmBmind euemTedd
G(PEHDHET SHIMSSLILL L Bleneouled BFHenen DIMOEHHTEH SbHSHIUI LOTH VLD

a. 9IFTD b. prameonhgi C. OFHEVIBISTEIT

d. GuBg eumksTeND e. allenL  Gafweaisvensv

36.  Match the local wind system with their locations:

Local Winds Locations
A. Chinook 1. Rocky mountains
B. Harmattan 2. Central Africa
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C. Karaburan 3. Central Asia

D. Loo 4. India and Pakistan
A B C D

a 1 2 3 4

b 3 1 2 4

C 1 3 2 4

d 3 4 2 1

e. Answer not known

&6 OBTBHSLILL (BHelTen STHBBIL 6T DIH6T FHB B HmHL CUTHHHIS.

H6VSHBTHBM) aladlem G b

A. fers 1. gné& a6V

B. amimiom’ L et 2. wHHW Qifasr

C. amyyyes 3. wHHW g duir
4,

D. e @hFHwT BHID LTSlerOSTes
A B C D

a. 1 2 3 4

b. 3 1 2 4

C. 1 3 2 4

d 3 4 2 1

e. allewL  Gafwalsvenso

WHO has recently declared which outbreak as a “Public Health Emergency of
International Concern”?
a. Tomato flu b. Monkey pox c. Bird-flu

d. African swine fever e. Answer not known
FTouBxha olenalled LDSFHEIT [HEL DEUFJD H(HEH 2 60d HFSTHTY Hpeueld Spfelshs Crrulle
QuuwIT eTeiTeRT?

a. SHdFMeMd STUIFF60 b. GImE S C. UBeneUdh SHTUIFF60

d. 9nifss usmd sTuIFse e. alenL  Gapfuwaisvensy

The main sources of natural alkalinity are rocks, which contain __ compounds.

a. Iron, aluminium, calcium b. Borates, sulphurs and phosphates

c. Calcium, sodium, potassium d. Carbonate, bicarbonate and hydroxide

e. Answer not known

BUBMS BTTHHAMIOUTET  (LPHEW  QLHTIRISET LTmBEH6T G 6L GFiTomicmelt
o _giteTenl.

a. &b, SiIbdlefuibd, SHTe0F WD b. GunGyi_(Bseir, FeouTser WOBMBID LTEOBUL (BB
c. smeodlwib, Gamguib, QUL Lmduib d. aruGer’, evusTTUGI. WBEBID MBI JTHma[H

e. allewL G flwalsvenso

Correctly Match the interstate water dispute in India with their respective states given

below:

A. Yamuna River Water Dispute 1. Maharashtra, Karnataka, Andhra Pradesh

B. Narmada River Water Dispute 2. Karnataka, Kerala, Tamil Nadu

C. Krishna River Water Dispute 3. Madhya Pradesh, Maharashtra, Rajastan

D. Kaveri River Water Dispute 4. Uttar Pradesh, Madhya Pradesh, Himachal Pradesh
A B C D

a. 3 4 2 1

b. 4 3 1 2

C. 4 1 2 3
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d. 3 1 4 2

e. Answer not known

&8 GaThEHsUILL (Heiten LOMHevmIG6T Benl CGuiwimet B BT LIJFFmetdamen SigHet CHTLTLemL U
rmHleomsCenm® Filwmed CUT(HEHHIS.

A. wgpert BF BT ysFsene 1. &STITORUQIT, SHTBTLSD, HAIT LIg6Haid

B. miwst mFH BT LpFsene 2. &MBTLSID, Gsyent, SODBTH

C. dmagewm B BT LpFgemenr 3. wHHW LNPCHFD, WSTITARNQIT, ETTEIEOHTEIT

D. smelfl pd BT LyFgemer 4. o 535 UGsawb, wHHW LFGssw aviorgsd LF6sHsd
A B C D

a. 3 4 2 1

b. 4 3 1 2

C. 4 1 2 3

d. 3 1 4 2

e. allewL  Gafwaisvenso

Who introduced Mansabdari system?

a. Babur b. Akbar c. Jahangir
d. Aurangazeb e. Answer not known
werFismi  (empenw! DPBIIPSLILBGSHS WeT WITT?
a. umui b. eiduir C. QBRI
d. semss e. alewL  GgMuwalsdensv
Match the following:
Post Name Nature of Work
A. Qaziul - Quzat 1. Chief City Magistrate
B. Mugaddam 2. Legal Interpreter
C. Mufti 3. Chief Justice
D. Amir-i-dadh 4. Village Headman
A B C D
a. 3 4 2 1
b. 3 2 4 1
C. 3 4 1 2
d. 1 2 3 4
e. Answer not known
QUT(HSHHIS:
ugealuller GLwiT Uemiufedr  HeiTenLo
A. s1fed - GFSH 1. BHIS FHMevenld GHBmailled HHEUT
B. wpsss1d 2. gL alendb@biT
C. wpug 3. BlWevemo B
D. sufirn-55 4. HImog HMELAIT
A B C D
a. 3 4 2 1
b. 3 2 4 1
C. 3 4 1 2
d. 1 2 3 4
e. alenL Gaflweailedenso
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Reason and Assertion type:

Assertion [A]: Ala-ud-din sent Zafar Khan and Ulugh Khan against the Mongols.
Reason [R]: The Mongols were defeated and Zafar Khan was made the rules of
Mongols.

a. [A]is true But [R] is false

b. Both are true But [R] is not correct explanation of [A]

c. [A]is false [R] is true

d. Both [A] and [R] are true and [R] is the correct explanation of [A]

e. Answer not known

SIMJEILD LOBMID  FnBmI:

ampol [A]l:  oeoteyder  wRGBEHTIWTSEHHE —6IFHITH  MIUTHTE  IDBHID 2 eVIHHTEN6T
Sl ILTeonTiT.

amyewid [R]:  wmiBsrelwitser GCHTHBHIQHSIILILLEINT OBDID  MTeuTdTer  omGHTeIWITSeM6T
S Fwmengme HuIdldbaUuLl L.

a. [A] s suemed [R] Heum

b. @yewig M suenmed [R], [A] 1 gflwmer eflendsiilevenso
c. [A] meum [R] &

d. [A] wmu [R] &, [R], [A] &1 gflwmer elendasid

e. allewL  Ggfwalsvenso

The two Mughal emperors who wrote their autobiographies were

a. Akbar and Jehangir b. Babur and Jehangir  c. Babur and Humayun
d. Aurangazeb and Shahjahan  e. Answer not known

ShEB6T GWgfNmHenwl WS BFeni® (Wweeomwil CuraiTselr

a. SIGUT LBBID IOBTHRIST b. uTUT WOBEBID WEBTERIST . LUTUT LOBBILD QBELOTULET
d. siegmsdl BpId ayTmsTar €. el OFflwalsdensd

Mohammed Gawan’s Madrasa is a large Library, containing a collection of 3000
manuscripts situated at

a. Berar b. Bijapur c. Bidar

d. Ahmad Nagar e. Answer not known

(PHDIOG ST @(H WLHJFTma! Hpel DiH6e0 3000 MHBOUWIDSHSH HITCLHM6NT  MeUSHI(HHSD
@L1b

a. Guiymi b. gty c. umf

d. ois051 BBT e. alewL Gapfuwalsdensy

Which of the following are the four key aspects of Mahalir Thittam to empower rural
women?

a. Social, Political, Economic and Legal

b. Social, Political, Economic and Health

¢. Social, Political, Economic and Education

d. Social, Political, Economic and Sanitation

e. Answer not known

Sgmoll  Quewtdmen  GLGHBHIUSBHTRT  WHEMT HULHHGT BTG (PHBHUIS  FnBIdH6r 60
SIDAU(HEUGT 6Teneu?

a. Fepsld, DIFwied, QUTHEMTSHIILD WBBID FLU LD

b. sapsid, duicd, QUIHEMTHITID OBBID HEOEUTLDE]

C. Fepsld, SFwed, OUTHEMTHTID BMID Heva

d. gepsib, odluied, GQUTHEMTSIID WOBBID SHTUIENLD

e. allewL G flwalsvenso
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Choose the correct answer from the options given below relating to “citizenship” under
the Indian Constitution:

a. Articles 1 to 5 under part I b. Articles 5 to 8 under part III

c. Articles 5 to 11 under part II d. Articles 8 to 11 under part IV
e. Answer not known

@hFHw SrFwevenoli] FULHH0 “Glufleny” aaiemid uGd amibhs, Fflwmer aleLemw &6
CarhsbaiLL (BeTeneuBmieT CaThoHHoHBaLD:

a.alg 1 — 5 ugd I b.alg 5 — 8 ugd Il

c.ald 5 — 11 ugd I d. alg) 8 — 11 ugd IV

e. alenL Gafweailsdenso

What is the meaning of the term “State’, under Article 12th of the Constitution of India?

1. Government of India and Parliament.

2. State Government legislature.

3. All Regional Authorities.

4. All Regional (or) other Jurisdiction of the Government of India Located in (or) under
the control of the Government of India.

a.1only b. 2 and 3 only c.1and 4 only

d.1,2,3and 4 e. Answer not known

ObhHw SpFlweoenoli] o mifi] 12 @6 S “Oas” o CFmed sauBemB o 616N &E&HSBaI?

@bH SIF LOBDID DIH6T [HTL TEHLOGITBLD

2. MHL SIF& LOBEBID DISHT FL L LDGTHBLD

3. SmahH aULLTT DiFHSmilser

4. @bHw SpFler HeolLGHUID DIEDOHIHIGTON DILVHI DIFHe SLBUUTLIQET S 266
SDMSHSH UL LTY SleOevd BT PSS GLDHS6H

a. 1l @ b.2 w@Bpb 3w Gib c. 1 wmpmid 4 1w (Hib

d.1, 2, 3 wBmb 4 e. alenL  Gafuwaievensy

[

Select the correct statement(s) with respect to Fundamental Rights of Indian Constitution:
(i) Fundamental Rights can be waived by a Citizen.
(i)  Fundamental Rights can be suspended by the Supreme Court.

(iii) Fundamental Rights cannot be waived by a Citizen.

)
)

iv)  Fundamental Rights is the basis of Judicial Review.
a. (i) only b. (i) and (ii) only c. (i) and (iv) only
d. (iii) and (iv) only e. Answer not known

@b ofwevenoliiear Sl o flenwseT GP¥s5s Flumear gmBens  FBBISHMm6Nd

BxHOSHBHBMLD.

(i) R GBS BRI  HOTHHTRT QLI 2 MNeDBMeTdH Hel@bhLly CFuIH)
Qa6 (LpIQULD.

(ii) ® FFHAHIOGBLD HemardhHTe0 SiliLenL. o fendemen SenL HBISHSHD GFuwiul (piguib.

(iil) om GYLaET HabaTar DiGliLmL 2 fNmWwamerd HeTEpLy CFuis CsTeTaT (LPIQUITSH

(iv) pPuyemgruieler SigsHenGL Sglitient. o fenset S

a. (i) wL@Bw b. (i) wpmid (ii) sydlwer oL BLb
c. (ii) ppib (iv) spdwier oL GLD d. (iii) wBpIb (iv) sysdlwer WL B
e. alenL Gaflweailedenso

The main aim of deficit financing is
a. Economic Development b. Economic Stability c. Economic Equality
d. Creation of employment opportunity e. Answer not known
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UBBTSEGmB HHWTESHIH6 (WpHeteno Grréasld

a. QummenmHmy  (LpestGeoriBMmLD b. QuIBenTHTy BHlenevdsHeaento

C. QUTHEMTHTTF  FLOBleM6V d. 4w GaumeLAITUILILIEBEMGET 2 (HeUTEHEH60
e. allewL G flwalsvenso

If unemployment occurs due to automation process in industries, it is known as
a. Structural unemployment b. Seasonal unemployment
c. Disguised unemployment d. All the above

e. Answer not known

Frelwmdsd  OFTheonpl ubdHmer  OFHTHBFTmeHaN60  LWEUGSHHID  Curgd  gmuBLD
BauemevueTenind @l GILILWIT

a. sl Ll Geauemeouleirentp b. umeustev Geuensouieiiento

C. wempps Geausmevulleienio d. Gumammiu SiemeiHgID

e. allewL  Ggfwalsvenso

Arrange the following in the order as presented in the budget of government of India.
1. Capital Receipts

2. Total Receipts

3. Revenue Receipts

4. Total expenditure

a.1,2,3,4 b.3,2,4,1 c.3,2,1,4

d.3,1,2,4 e. Answer not known

@bhHW SFTRESHar auge| GFevey FILSHH6 (paieneaussiil L auflogulsd Leieheeameibens
R(LLMBIBENLOSHHELD.

1. eeVHET 6U(HEUTUL

2. QTHH euHEUTUI

3. eugelen aU(HEUTUI

4. QursHze 6Fevey

a.1,2,3,4 b.3,2,4,1 c.3,2,1,4
d.3,1,2,4 e. alewL  GaMuwealsvemev

“The Searchlight” was a most important and influential Newspaper was published in

a. Patna b. Allahabad c. Mumbai

d. Madras e. Answer not known

Lyuevlomen (LpSHetenlowltedl GFeoeunsd@ Wdds mrefspmer “OFTFeameul” Uyafdsiul L &L b
a. umL_eonm b. &evsmung C. (IpLbemL

d. Guol gmerd e. alenL  Gapfuweailsvensy

Directions for the following item:

Read the following passage and answer the item that follow. Your answers to this item
should be based on the passage only.

In South India Bhimavaram in the district of West Godavari, was the storm center of the
movement. In Kollengode, the students heading a procession unbuttoned their shirts and
exposed their chests to the loaded revolves of the police. In Tamilnadu almost all the mills
including the famous Buckingham and Karnatic mills at Madras struck work. The
military aerodrome at Coimbatore was completely burnt down.

Which one of the following movement is best suited in the passage?

a. Civil Disobedience Movement b. Quit-India Movement

c. Non-Cooperation Movement d. Swadeshi Movement

e. Answer not known
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Weteu(pld LSHFHemwl LIgHgl LFHeverldbHaLd:

uglevsdell uHGHulerr Siglien uied WL HOL SmEHd Geuewi(BLD.

a1 @bHwmaled GuomE Cardmeufl OTaILLSHHD o 6fen LioTeugd, BuIsbHHAIT  LJUed
MWWIOTES  B(HbHHH. CBTe0RGHTL 1960, 2a1TeUeOITHE CFIMB  LOTEOIITHET HHIS6T FL DL
QuTHsTeEmen HPEMBNY  BTeusLHIMBUTET CHTLLTHH6T Hewmbhsd SHIILTSHHEHEHE LTINS
ST 196, SHODBTL 1960 2 66l LSLDOUMBB LSS manTd oBmid Ol grendiled o _6ienm  HBTL &
SMEVBET 2 UL SLHHL mANHFH  PewevdbEhd  Couemev HmISHD — CFuiIge.
Gamuwibyshamfled o _eien yTamien aillomer Bleneouwl(d (WBMlevd erfbadl HTFOTHSUILL L .
Ueeu(pld 6Thd BUISHID AbhdH UHHGHE Wead QUTHHSHIOTEIH?

a. FLLIOBI Quishsld b. GeusitenemuGer GeuelBum SBuisbasid

C. PHHIMPWITEND SUISHSHLD d. s8sf Buibsid

e. allewL G flwalsvenso

Which of the following statements are true about Khan Abdul Ghaffar Khan?

1. Khan Abdul Ghaffar Khan was the Pasthun leader

2. Khan Abdul Ghaffar Khan was known as Badshah Khan

3. Khan Abdul Ghaffar Khan was the founder of Khudai Khidmatgars

a. 1 and 2 are correct b. 4 and 1 are correct c. 3 and 2 are correct

d.1, 2, 3 and 4 are correct e. Answer not known

Lelteu(hLeTeoUBBIeT SHT6 SIIHI0 SUMT ST UBHBIL 2 auIenowITer SnBBISHeT eTeneu?
1. &T6l OG0 HUMT SHT6T @H LIVSITET HeneL6UT.

2. &Ml SO SUMT ST LT QYT STl 618 DIeNLP&BLILIBESIBT.

3. M6 SIIFHIED SUMT HTEH 61606M6VDH SMbF 616l LITLVLTS DIeHD&SLILIGSIBTT
4. FT&T SIUBHE0 SUMT HT6il, GH6ewL SILLOTL SMTer0ener0 [HlpieduieuiT

a. 1 wppid 2 & b.4 wBpn 1 g C. 3 wBpw 2 &
d. 1, 2, 3 wppw 4 & e. alewL  Oafwalsbensv

Which party observed the ‘Black day” on July 1947 against partition of India?

a. Indian National Congress b. Forward Bloc c. Hindu Mahasabha

d. Communist Party e. Answer not known

apsd sLdl @bHu  Ufeumeandsg eHme ggeemev 194710 Spewtenl. ‘BB SHemons’
oflalH55I?

a. @bzl Czdlw smmisITerd b. unfreulm Nenmmes C. albgl ST FemLl

d. siweiedr. s d e. alenL  Gafuwaisvensy

RJPL :NNLP:: YAWC:?ifA—>1,B—>2,C—>3, ....Z—26.

a. UESG b. UUSG c. SEUG d. SSUG e. Answer not known
A—>1,B—>2C—o3, ... Z->26aam apsas Gsmamimed RJPL: NNLP:: YAWC:?
a. UESG b. UUSG c. SEUG d. SSUG e. alewL OgMuwalebensv

The difference between 7th term and 6" term in the Fibonacci sequence is

a.3 b.5 c.8 d.13 e. Answer not known
uGenimdl GeHTLM60 7eughl BMID 66uFH 2 MIIFBEHSHESG vl Guiwimer algHHwmgd
a.3 b.5 c.8 d.13 e. alenL  GaMuwalsvemev

Find two consecutive odd numbers whose sum is 200?

a. 91,109 b. 97,103 c. 99,101 d. 95, 105 e. Answer not known

Orewih DIbSHHBHD PMBEMBLILIHL  6lcmTH6MeT FnBHev 200 6Tarled ielCeIHTIHMETS HTEwISH?
a. 91, 109 b. 97,103 c. 99,101 d. 95,105 e. alewL OzMwalsbensv

14| Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187  http://www.appolosupport.com/




59.

60.

61.

62.

63.

64.

65.

APPES LD

Y RFHNTRT
SHENNAL

If 12 farmers can plough a field in 49 days, then find the number of days reduced if 21
farmers plough the same field?
a. 28 days b. 21 days c. 20 days

d. 27 days e. Answer not known

12 o 1pauT&6T @b euwleney 49 BILH6aMe0 2 (peul. 21 2 |paITsH6T DIEIGILINGD 2 (LDST6V,
a5Hmed Gaueney BT &6 (GHMBU|LD?

a. 28 B &6 b. 21 mr e C.20 BT &6l

d. 27 prsei e. alewL  Ogfwalsbensv

A Satellite is placed in its orbit in 7 hours 16 minutes 20 seconds. Calculate it in seconds.
a. 26180 seconds b. 26080 seconds c. 25180 seconds

d. 25080 seconds e. Answer not known

Qb OCFuBmadsCxarer 7 wewll 16 HUOLMmSeT 20 elamgseied  HeTaenL Ul &HBH
AL LLILTeNGHmU DnLBBH. BFHemen alalmoHeied Henrhd(BHb.

a. 26180 aflemigaseit b. 26080 allenmigaair c. 25180 alenmig et

d. 25080 afesmigeseit e. alewL OgMwalsbensv

The population of a town is increasing at the rate of 6% p.a. It was 238765 in the year
2018. Find the population in the year 2016.

a. 212000 b. 212500  c. 213000 d. 213500  e. Answer not known

RH BBITSHH EBTOBTND DeBHES 6% DFeNbB M. 2018 LD LEWIB LSBT OHTend
238765 o1& eiadied 2016-9uD SLEWIQEN LDSHSH6IT OHTnNHENUISH SHT6uIH.

a.212000  b.212500  c. 213000 d. 213500 e.alewL Gsfwaisoamnso

Principal = Rs. 4,000, r = 5% p.a., n = 1 year interest compounded half yearly. Find the
compound interest for the given data.

a. Rs. 202.50 b. Rs. 202.00 c. Rs. 100.50

d. Rs. 100.00 e. Answer not known

O1F60 = Rs. 4,000 ouewih au'ly o r =5%, n =1 ouewi(h 6l DIwIWITeni(hbEH @H (LPens
Al SebHLLILGHBSEH 6Tafed, BH&T dml B Ul 19enuld SHTemIH.

a. Rs. 202.50 b. Rs. 202.00 c. Rs. 100.50

d. Rs. 100.00 e. alenL  Gafuweaievensy

The ratio of the volume of a cube to that of a sphere which exactly fits inside the cube is

a.m:6 b.6:7 c.m:12 d.12:=x e. Answer not known

QRbH SOFHTHHGT S SleNebSGD SiFet o 6MGen WaF Fflwms QuTHHHSB Comend e
& OlenebGHD DL G o eiten el wrgl?

a.m:6 b.6: 7 c.m:12 d.12: =« e. alenL  GaMuwalsvemev

The America’s famous Golden Gate Bridge is 6480 ft. long with 756 ft. tall tower. A model
of this bridge exhibited in a fair is 60 ft long and what is the feet of tall towers?

a. 6 ft. b. 5 ft. c. 7 ft. d. 8 ft. e. Answer not known
SIowfdsTale LIFueoTeaT $HmiE HIeNWe| euTuled L6V 6480 Sig HEM(IPD 756 Sig o WP
CamewiL  CamImismend OFBTemIL . @ HeorsT fullsd LWEUGSSUIULL  Diget rgHifl
UTeLSHH T Hemd 60 Slg 6Tefled DIILTELSHH T © WTHHET DIeMe] HIQUT6D BHITENISH.
a. 6 99 b. 5 a9 c.7 &9 d. 8 o e. alem  Gafuiaisvemnsv

HCEF of 144«/5 and 120 o is
a. 24\/5 b. 24a C. 12\/a_ d. 12a e. Answer not known
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144\/5 wppid 1200 gaweuppler B CUITgHISHSTyewi SLGLD.
a. 24fa b. 24a c. 124/a d. 120 e. el Gfiualsoamen

If PEACOCK is 3191529521 then PEACE is

a. 319159 b. 319137 c. 317521 d. 319121 e. Answer not known
PEACOCK aeaiug 3191529521 eaiailev, PEACE eteiug) etesten?

a. 319159 b. 319137 c. 317521 d. 319121 e. alenL  OsMuwalebensv

Convert % into percentage.

a. 125% b. 175% c.75% d. 25% e. Answer not known
2%& FHISHLOTH  LOTHBEBIS.

a. 125% b. 175% c.75% d. 25% e. alewL Oz fwalsbensv

Find the correct Assertion:

Assertion [A]: The Nilgiris is the least populated district of Tamil Nadu
Reason [R]: It is located in the North Western part of Tamil Nadu

a. Both [A] and [R] are true and [R] explains [A]

b. Both [A] and [R] are true but, [R] does not explain [A]

c. [A]is true but [R] is false

d. [A]is false but [R] is true

e. Answer not known

gflwmer gnmplenet SHemwrBLIG:

ammml [A]: BevA N HODBTL IS GHMBHSD DHFHETOHTNS CBTEwHIL  LOTaUL L LD
amyenid [R]: @1 sOWBT 9aEr e GuoBE LGHUTed SIMHBI6T6NS

a. amm [A] wBpid smyewid [R] @rewiGd &f, smyenid am@ens alandb@HnBal

b. smm [A] wBmib &ryewtd [R], oyemmed smyewid gnBpibster Ffluimea alendsld ©i6060
c. wmmul [A] sl eyemed smyewid [R] seumi

d. spom [A] Heum eyemmed sryennd [R] o

e. allewL G flwalsvenso

Which article states the ‘state shall strive to promote the welfare of the people by securing
and protecting as effectively as it may a social order in which justice, social, economic
and political shall inform all the institutions of the national life?

a. Article 38 b. Article 15 c. Article 16

d. Article 40 e. Answer not known

“oas, Gl eumbaler OIEMDAIMTRIGET DIMOTIHHMID, FUPSTW. GUTHeTNWed, DFFuied, B
BenBhAH HeVaUBTRT @(h FLWSHTW (enpuemoalenerl LB WIS UTHISTHSI, LDdHHer e
Bl LML ewL  auemTHHL SifiFlar puwaHed GCouewiBD” 61yl Fopild SHHU  HIFFuIeoenIolILF
gl Uifley

a. fley 38 b. ifley 15 c. ifey 16

d. dfley 40 e. alenL  Gafweaisvenso

Assertion [A]: The growth of population in 1921 was held in check

Reason [R]: Birth and death rates were more or less equal during this period.

a. [A] is true but [R] is false
b. Both [A] and [R] are true; and [R] is the correct explanation of [A]
c. [A] is false but [R] is true
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d. Both [A] and [R] are true but [R] is not the correct explanation of [A]
e. Answer not known
amm [A]: 1921 @60 W&HH6T QFHTWH UeTTES &L BHEG6T S(HbHDHIH.
amyenid [R]:  @bssd sreosl LiHHe Uply wigd ol oldsbd SLsHSI L Fors
BBHSS.
[A] f; eyemmed [R] Heumi
. [A] wimpbd [R] yewiG af wimpd [R] eaiug [A] B sflwrer alendsid
[A] seum; eyemed [R] &
. [A] B [R] @remiid af; syemmed [R] eeiugy [A] elB@dF sflwmer allendsiosden
e. allewL  Gafwalsvenso

o0 o

71.  Match the following:

A. Against the practice of Sati 1. Sri Ramakrishna Mission
B. Encouraged intermarriage among
different castes 2. Brahmo Samaj

C. Fight against untouchability 3. Prarthana Samaj
D. Service to man is service to God 4. Arya Samaj

A B C D
a. 2 3 1 4
b. 3 4 2 1
C. 3 4 1 2
d. 2 3 4 1

e. Answer not known
gflwmereumBensl QUIT(HSHSHIS:
A. o | sl gRISNGG aHTer GFweoLm® 1. nf gmodmadewim Wages
B. uebGaupiu’ L grgleensslmr Cuiwmer seoliLg
BH(HOMIGHMmS 2aEHGaldhHe0 2. LIJDD FLOTILD

C. Sewirenodosdymer GumymLLb 3. Uit gHemedt FLOTEQLD
D. walgas@d GFuiwsamigul CFeme

FLeYEHSGHF OFuIb CFHTeni(h 4. &yt FOTMLD

A B C D

a. 2 3 1 4
b. 3 4 2 1
C. 3 4 1 2
d. 2 3 4 1
e. allewL G flwaisvenso
72. ____ sang the songs of Mullai Tinai of Iyngurunooru.
a. Ammoovanaar b. Orampogiyaar c. Peyanaar
d. Kabilar e. Answer not known
ORIGHBTBBIET (LPeLNEVSHSHMETENUIL LITIQUI L|GOeUT E6uT
a. SIDELPGUGTTIT b. @ribGurdluwim c. Guwierit
d. sLieof e. allenL  Gafweaisvensv
73.  Assertion [A]: P. Jeevanandam formed Self-Respect socialist party.
Reason [R]: He had a plan to get communal representation in government
services.

a. [A]is correct [R] is false
b. [R]is correct [A] is false
c. [A] and [R] are correct
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d. [A] and [R] are false

e. Answer not known

ammul [A]: U. eurehpd Swioflwmensd CUTHielmLm &L Fenul LTSS

amyenid [R]:  oe uaiseaied augliyans LyHBHdssausms QUB S LD e HbSTT.
a. [A] &M [R] seumi

b. [R] &f [A] seumi

c. [A] wBupd [R] &

d. [A] wpmid [R] Heump

e. allewL G flwalsvenso

74.  Match the sentence with its appropriate meaning:
A. Mundhai irundhu nattor koduppin nanjum unbar 1. Kadhal

B. Neerinramaiya ulagam pola 2. Karpin Melliyal

C. Alli layinum Virunduvarai uvakkum 3. Nani nagarigar

D. Sadhal Anjen Anjuvan Saavil 4. Pirivu achcham
A B C D

a. 4 2 1 3

b. 2 1 3 4

c. 3 1 2 4

d. 3 2 1 4

e. Answer not known
T eyl QuTHGeTH CUT(HHHIsH:

A. s mbal BLBLIT CaTBULIST HEhdilD o euILiT 1. ®&1H6e0

B. pilsimsenowir ayevsd Gumev 2. BT GLs0EILIED
C. 916060 svmuignid &fl(HhGHIeuTeT 2 6lb@GD 3. mell BrsflasT

D. snge0 oi6hCFen1 Dichaicuen gmaied 4. Ufley oFFD

A B C D

a 4 2 1 3
b. 2 1 3 4
C. 3 1 2 4
d 3 2 1 4
e. allewL  Ggflwaisvenso

75.  Read the verse and pick the right choice:
Valluvarsei Thirukkuralai Maravara Nangu unarnthorgal
Ulluvaro Manuvaathi Orukulothirku Oru Needhi
1. This verse was written by Pe. Sundranaar
2. Thirukkurla is common for all where as manu is not common to all
3. “Pirapokkum ella Uyirkkum” - a verse that can be associated with this
4. This verse is from the drama text title Manonmaneeyam
a. 4 incorrect; 1, 2, 3 all correct b. 1 and 4 incorrect; 2 and 3 correct
c.1,2,3 and 4 all are correct d. 2 alone correct, 1, 3 and 4 incorrect

e. Answer not known

UTLem6oL! LIgSSIell BL QumpbsHsomer alemLemuwldh CHiTey Glauis:

QUGTEHUTOFUI FH(HEGSBeM6T LOBAUB HeiE 2 ewlTHGHMTH6N

o 6ienauGrm aIaTs @ GvHHH OFTm B

. @bhsl UTLMED UTQUIGT OlLL. S[bSTeoTT

2. elveunF  gmHulenidb@Gl  QuUTEH BT  HHBSMET  IBEH  6TeLeVTF  FTHHGLD
QUTHIEUTEIT S 60EM60

3. ‘UBl@ure@ld eteveor o uliid@d’ e @GmGeamh @bl uTLedeufl CUTHSSH(LPEDL WIS
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4. @b UTL60 LDGeITETOMIULILD 6TeTaID BHTL& HITeVeL @ 1D OLBBIETETS.
a.4 seuml, 1,2, 3 &M b. 1, 4 meum 2, 3 & c. 1,2, 3, 4 smardhaid eufl
d.2sM 1,3,4 sem e. alenL  GaMuwalevemev

76.  “Manthini Gnalathu Vazhvorkku Ellam
Undi Koduthor Uyir Koduthore”
in which epic does this line appear?
a. Seevaga Chinthamani b. Silapathigaram c. Manimekalai
d. Kundalakesi e. Answer not known
“emiglentl EHTeVHSHI UTLDBeUTTSE 6T606VTLD
o ewig O&ETHHBHTT 2 uliTehsTHaHCHTEr”
TRIBIDTHSGHLD STULIWID 6157

a. FousFbHmioemni b. feotiudsmyid C. enTGLosemev
d. @ewi_evBasd e. alenL  Gafweaisvensv
77.  “Karpooram Narumo Kamalapoo Narumo
Tiruppavala Chevvaidhaan Thithithirukkumo”
a. Nammazhwar b. Madhura Kaviyazhwar c. Thirupaanazhwar
d. Aandaal e. Answer not known

“smiygbd BTBIGLT? sweoliy, BHTBIGLT?

FHmlueuens GFeieuTuiHTer HHHH HheB&S6LT?’
6T60TMI  LIMQUIGUT  WIrmiT?

a. [BLDLDTLGUITIT b. wgiyselwimpeurt C. SBULTERTTLDEITT
d. eyemr_meit e. alen. OzxMNuwealsdensv
78.  Assertion [A]: The presence of various races in India earned the title of
“ethnological museum” for India.
Reason [R]: Dravidians were the original inhabitants of India.

a. [A] is true, but [R] is false

b. Both [A] and [R] are true, and [R] is the correct explanation of [A]

c. [A] is false but [R] is true

d. Both [A] and [R] are true but [R] is not the correct explanation of [A]

e. Answer not known

amu [A]: LeOBouml BRHHMN FTTHSAITH6T UTDAISHTEO @HAHWIT ‘Lev Ber Hewiam g’
TSI FmBULBSBSI.

asmyewid [R]:  Hyrelitser @hHumelesr o emuieniouITes @GIQLDEH

a. [A] afl semmed [R] seumi

b. [A] wBpid [R] epdw Bgemibo af wBpid [R] ereiug [A] alBg gflwmer alendaomgLb.

c. [A] sam syemed [R] &

d. [A] oBmibd [R] suddwi Byewiio &f, syeimed [R] eiaiugl [A] eliB@ aflwner aflendsiosven

e. allewL G flwalsvenso

79.  The element that concentrates strongly in the thyroid gland is

a. Chlorine b. Bromine c. Iodine

d. Calcium e. Answer not known

oHITIH ariiuied oiswres GFpsleyl LUILGL Helwbd 61g?
a. &Gemmlesr b. yGymblesr C. 2:Buimgest
d. smeodluib e. alowL  OsMuwialsvemen
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The Father of Genetics is

a. Wolff b. Darwin c. Weismann
d. Mendel e. Answer not known

__etetueu wrllwedeT HhHend eIeiml SIenPSSLILIBSIMITT.

a. 2 60 L1 b. Lnirele C. Geuu1erdGLoest
d. Guewrsd e. alenL  Gafweaisvensv

Blood grouping was discovered by

a. Robert Brown b. Cannon c. Karl Landsteiner

d. Funk e. Answer not known

BOrHD UMBDHME  &H6wTLMSIHSHEUT

a. gmum’ LGyeest b. Gaeumest C. &ie0 BGevasTl_eroGILUIGHIT
d. uks e. alewL OgMwalsbensv

Crossing over results in

a. Cytoplasmic reorganization b. Recombination of genes
c. Complete linkage d. No significant change

e. Answer not known
GBISCaBBSSMTED FBLGISI
a. gl GLmlenmerowls wmIFyenioriL] b. Saisellest wm Beneniey

C. (W LieneworliL d. eI 5565 WIBBL Be0emnev
e. alowL  GgMwalsvenso

Common Facility Centres (CFCs) Scheme, which is fully funded buy the Central
Government is for

a. Infrastructure b. Milk and Milk Products

c. Gems and Jewellery Sector d. Power Distribution

e. Answer not known

(Wpeugid el odlear  HHweliled o (heuter OGuIgH LWSILTLG WLWHHW HLLID
T5HSHMBEBTH GBLGHSUILL L FHI?

a. ©_6iTeL L enLoLIL| b. uTed OBBWID LTEOFTTHS CUITHL 6T

C. BIHHIMBIBET OBEBID [HENBHBH6N d. et wdimomed

e. allewL G flwalsvenso

Name the ancient medical text taken for comprehensive research by AIIMS, Delhi.
a. Charak Samhita b. Sushruta Samhita c. Kashyapa Samhita

d. Rigveda Sambhita e. Answer not known

@L6vedl, eruiberTeL, elifleurest SITUIFHSEG 1BHHHIGOBTTOTILL L. LIGHIenL Ul  LO(HHJHIe! [HIT6L
61&l?

a. gran Faslend b. sedmaT Fbanlens C. sTFWLIL Fbanslend

d. &Gz Fbanleng e. alewL Ogfwalsbensv

CIASC - 2022 has been awarded to Tamil Nadu for the invention related to
1. Recycling of agriculture and market wastes

2. Sewer guard

3. Recycled paper matchstick production machine

4. Production of grain mixture

a.2 and 4 only b. 4 only c.1and 4 only
d.1 and 3 only e. Answer not known
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CIASC - 2022 a(ppreng HIOWHETG UBBSBSTET HewIGLIQL 6IHaIL 6T G HTLTLemL Wig?
alleusTuw BLID Fhendd Slhesemen LOBISFIEBS CFU1%5H60

sleabT &HHSMIY UTSHISTIILY

B1HS LRGBS S&GFF 2 BUHH SUBIHTLD

STONLHH60M6U 2 BLISS)

2 w@Bmib 4 1wl (B b. 4 @b Cc. 1 Bmib 4 1l B

1 1oBpid 3wl @ e. allewL.  Gzfluialsdenso

Qoo wN e

If a person consumes an average of two liters of water per day, then express the quantity
in moles

a.11.111 moles b. 111.11 moles c. 1111.1 moles

d. 1.1111 moles e. Answer not known

Q@H BUT @h BTemeNdh@ FITFMuns @Ieni® 60 LT Hewrenien] 2 L CHTeRILT60, DH6T SHieTene
Biomevameifen 6TGUTGUITLD.

a.11.111 Gwmed b. 111.11 Gwmev c. 1111.1 Gwmed

d. 1.1111 Giomed e. alewL OgMwalsbensv

Who brought tobacco into India in the year 1508?

a. Dutch b. British c. French

d. Portuguese e. Answer not known

wrgmed Yenduilensvenw! 150810 Suewih @bHwmalBE OCsTemi® suFlilLg?

a. LG b. U gerd C. yeha

d. GunitFasbalerd e. alew Gafuwalsdensy

The largest wind farm of India district is located in Tamilnadu.

a. Muppandal of Kanyakumari b. Ottapidaram of Chidambaranar
c. Andhiyur of Coimbatore d. Edayarpalayum of Coimbatore
e. Answer not known

@hgwraler WslOufw STBBTMmeY SLODBTLIQED T L HFH60 DILOHSIGT6NSI.
a. (PLILERTIL 6D, S6iTedl W@ Loi) b. @Uirniimyb, HsibLyeit

C. SIbhHWT, CamubLSSHITT d. e witumeowid, GasmuwIbLISEHITT

e. allewL  Ggflwaisvenso

Life in India is primarily based on Agriculture, which is dependent for its very existence
on the
a. South West Monsoon b. North East Monsoon  c. Cold Season

d. Summer Season e. Answer not known

@pgwmaler eurpeursTyd Geuenmemienioemul (peaitell CL o eiTengl, DISHHewHW! Gearemmententoudest
@Bl SIFHHIoTES FTHSHLILS

a. O»eGoBE UHeULEmLD b. auL&pd@& LHaIDemD C. @6t LHeuLD

d. GsmenL LIHeuLD e. allenL  Gafweaisvensv

Which one of the statement is incorrect regarding Lothal, the Indus city
1. It found at Gulf of Cambay

2. It found with a dock yard 216 meter wide and 37 metre long

3. The dock yard connected with Bhogava river

4. It was a port city and where foreign trade was carried an

a.1only b. 2 only c. 3 only

d. 4 only e. Answer not known
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spspeni. Beurged ety Fbg BFH HIIHMS UBBIUL FBBIG6T60 HaupTerg 617

1. Geurghed &MDGU euemeNGLTal6D SHTerlILBH MBS

2. @8 @I SHOBIPS HIBJLTGD, BFHer Hembd 37 WLLT SiHeod 216 OLLT
3. @bHBESID CUTSTAT GI6IN YBHIL T EeaTobSLILIL 1QHbEI

4. BHsIOBYs HEHH0 Bube CelelET G aTSSHD BLHSSI

a.l ' @ b.2 w’ G C.3 Wl B

d. 4 wl G e. alenL  GaMuwalevemev

91. Match correctly the festivals with their corresponding religion.

A. Khordad Sal 1. Sikh

B. Gurpurab 2. Parsi

C. Vesak Day 3. Bahai

D. Naw Ruz 4. Tibetan
A B C D

a 3 4 1 2

b 2 1 4 3

C 2 4 1 3

d 1 4 3 2

e. Answer not known
LG eNSEHMENEF FIOLBLSLILLL  HSHHIL T Fflumsll QUmHEHis:

A. Gariigng gmed 1. Fadwir

B. @y 2. umird

C. oigné pmel 3. uamTul

D. mmel eperd 4. FHOugHwir
A B C D

a 3 4 1 2

b. 2 1 4 3

C. 2 4 1 3

d 1 4 3 2

e.

alenL  Ogfluwalsoensv

92.  Match the harappan sites with their archaeological remains:

A. Mohenjodaro 1. Cemetry H
B. Harppa 2. Bronze statue of dancing girl
C. Lothal 3. Terracotta plough
D. Banawali 4. Ivory scale
A B C D
a 1 2 3 4
b 3 1 2 4
c 2 1 4 3
d 4 3 2 1

e. Answer not known
ABILILT B BISHN6T iHeT OFHTeveluied TFFRISCemmB CUT(HHHIS :

A. Gunsehast@ym 1. 8srs H
B. emgiwm 2. Qoeuewigev BLGIOTHD GlLiewr Flenev
C. Gourgev 3. QLpBasmim sevlienL
D. uermeurs 4. HHHHHT0L LetT D616 BHM60
A B C D
a. 1 2 3 4
b. 3 1 2 4
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C. 2 1 4 3
d. 4 3 2 1
e. allewL G flwalsvenso

93. I In the subject enumerated in the “Concurrent List” both the Union and States can

Legislate.

II. In the event of contradictions between the Union and States, the states authority will
prevail.

Which of the above statement is/are True?

a. I only b. I only c. BothIand II

d. None of the above e. Answer not known

[. Qurgiiuliguieded GRUILLIUL Beiten  SlemmHei 0% 1SS OBHBILD  OTHEL  DIFFiBH6i
@rewi G FULID SBuIBBeOTLD.

II. @& GaTLIuTe WHHW DTHABGLWD, IH DFFBGL BenLufed (WIewiLTh gBUGL CUTIHS
wrplev FFlerr oIBHBTTEL GoGeommiGLb.

a.l w’@Gw b. II w @G c. I wmpd II

d. Gumapiw eTenaiufleoeney e. allewL  Gaflwalsvenso

94.  The aim of establishing Lokpal and Lokayutha was to
a. Look into complaints and appeals pertaining to State Governments
b. Monitor all vigilance activities under the Central Government
c. Fight Cyber Crimes
d. Redress Citizens Grievances
e. Answer not known
GeordLmed oBEID GeOTHMTULBSTM HBIOUSHT (PoHHW CrHTdHeb?
a. wrpev oIF& OFHTLTUTe BEBID Gwed (WPeBUIGHmeNL! LTTHS
b. wsHw opdler S DRSS HEIBTERIIL [HLGUIQHMBBHMGNUID &H6uTHT6NT S
C. MFUT GBBEISM6T 61HTHD
d. Gusseiar GmpBsmen BHaThd OFuiHe
e. allewL G flwalsvenso

95. The Central Vigilance Commission was established based on the recommendations of
which of the following commission / committee?
a. S.R. Das Commission b. Administration Reforms Commission
c. Santhanam Committee d. Sarkaria Commission
e. Answer not known
BHMT  HEWIBTEWII  Spevewiid  Leeu(Bd  6hdh opememid / Gupeler  ufbgiengule
SlglitenLulled Mmieuiii’ L g)?
a.S.R. Fmerd gememIwID b. Piranass STHHSHH DeDEOIULILD
C. FHSTEID (D d. giemu eyenemtuib
e. alenL Gaflweailedenso

96.  Select the statements that correctly explain the concept of rule of law:
(i) Rule of law is to lift law above politics
(ii)  Rule of law means state can have different laws for different segments of people
(iii) Rule of law means equality before law
(iv)  Rule of law is premised upon the divine origin of state
a. (i) and (ii) only b. (i) and (iii) only c. (ii) and (iii) only
d. (ii) and (iv) only e. Answer not known
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FLLSSHT S F eTamd HHGHHTHEBHmBF FAWMs alend@Gd FmBuisemnens BCaHiTho%HHoHIaD
(i) FLLSHST o & aaiug FULSHmSH Sydfwededmbal L CL BriLg

(ii) FLLHHSGT o d eeiugd s OCeuaiBaup GEseEndHE OeuaiBaup FULmisamern
BuBpleuS

(iii) sLLHHET QU & aaiug FLLSHET (Pl DIHETaU(BLD FIOWD 6TETLSTELD.

(iv) eFlLsPear o d aaug Sevpeufld GamiuTleml (Wl meudd CFLIOLIBEISTELD.

a. (i) wBpib (ii) wL B b. (i) wBEIb (iii) WL G

c. (ii) @b (iii) L BLb d. (ii) mpibd (iv) wi G

e. alenL Gafweailsdenso

Who among the following presented the wage - goods strategy of growth model?

a. Harrod-Domar b. P.C. Mahalanobis

c. Jawaharlal Nehru d. C.N. Vakil and P.R. Brahmananda

e. Answer not known

SLPSHBTEMILIUTHAMED el GUT(HL BH6erMeT euenTFs o g5 rglflenws FIOTISHUT WTT?

a. GamyL_-GLmioT b. P.C. wameu@emiiend

C. gauamTeored Gm(m d. C.N. euded wpmid P.R. Wiyborerbsm
e. allewL  Ggfwalsvenso

ICRISAT is related to

a. Land ceiling b. Dry land farming c. Live stock

d. Fertiliser subsidy e. Answer not known

ICRISAT 2 L& OFHTLT L WG

a. Blev 2 FgeuylbLy b. aupewiL Blev eleugmuid C. SHTOBHML

d. o goaissten wmefuwib e. allewL.  Gzfluiaisdenso

According to 2011 census ____ percent of the main workers in Indian labour force was
employed in the agricultural sector and allied activities

a. 48.6 b. 48.9 c.49.8 d. 46.8 e. Answer not known

2011 1w&s6T OCFTend SMISDSL 6L, @bHumaled  FHaisld (péadHlwd CFmifeorenitaein
Gouenmemienld OBMILD DIHETT HIMEWISH HIMMBHEMEL  LiewLITBBISBITSHeT.

a. 48.6 b. 48.9 c.49.8 d. 46.8 e. alenL  Gafuwalsvemev
Why is “Commercialisation of Agriculture” so called

a. Family consumption b. Partly for family consumption
c. Sale in market d. None of the above

e. Answer not known

“GouenTemTenLOUN6IT 6U6INHLOWID” 6160 GTHEUTL DIMLPSHBLILIBGSMBSHI?

a. GOOU bHIGTe b. GBLLGHE B LGS BB
C. Fhamsular alBLeeT d. @aumpien gaidevenev

e. allewL G flwalsvenso
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